=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

alphal3_4eX1X:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

delta46_12X4eY:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

alpha4b_4ey4ay

7331

7330.5

7330

7329.5

7329

7328.5

7328

7327.5

7327

alpha46_4eY4aY:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

run:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

segment:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 7329}

P -
e e e eeeeamaenaaaaan .-

8728 8728.5 8729 8729.5 8730
cyclenum

usl_4eY:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

usl_12X:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usl_sex

7331

7330.5

7330

7329.5

7329

7328.5

7328

7327.5

7327

usl_4eX:cyclenum {run == 7329}

[

PRI R RPN AR
8728 8728.5 8729 8729.5 8730
cyclenum

run:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum




USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 7329}

P -
e e e eeeeamaenaaaaan .-

8728 8728.5 8729 8729.5 8730
cyclenum

usr_4eY:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

usr_12X:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usr_aex

7331

7330.5

7330

7329.5

7329

7328.5

7328

7327.5

7327

usr_4eX:cyclenum {run == 7329}

[

PRI R RPN AR
8728 8728.5 8729 8729.5 8730
cyclenum

run:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum




2756.5

usl_coill:cyclenum {run == 7329}

22756 e e erene oo s

2755.5

s B e

27545t ennnnnnn feenenans e

usi_culo

-
T

8728 8728.5 8729 8729.5 8730
cyclenum

usl_coil6:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usl_cols

usl_coll/

[

0.5

usl_coil3:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

usl_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usl_coll4

7331

7330.5

7330

7329.5

7329

7328.5

7328

7327.5

7327

[

usl_coil4:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

run:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum




29543

9543.5

29544

9544.5

29545

usI_coio

usr_coill:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usr_coil6:cyclenum {run == 7329}

1+

8728 8728.5 8729 8729.5 8730
cyclenum

[

usr_col3

0.5

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

usr_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

usr_coll4
=

05

7331

7330.5

7330

7329.5

7329

7328.5

7328

7327.5

7327

usr_coil4:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

run:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum




-428.6

-428.8F
-429F
-429.2 F

-429.4F

-429.6
-429.8

-430

-430.2
-430.4 F
-430.6 F

-430.8 F

-489.5

-490

-490.5

—-491]

-491.5

1X_coill:cyclenum {run == 7329}

Eol v v by v by v b w1y
8728 8728.5 8729 8729.5 8730
cyclenum

4eX_coill:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

1X_coll3
=

0.5

4ex_colls
=

0.5

1X_coil3:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

4eX_coil3:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

1X_coll/

4eXx_coll/

[

05

[

05

1X_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

4eX_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum




4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 7329}

[
T

] SO S A A

8728 8728.5 8729 8729.5 8730

cyclenum

4eY_coild:cyclenum {run == 7329}

-
T

8728 8728.5 8729 8729.5 8730
cyclenum

4ay_collb

o
5]
(=]
>
[
<

[

0.5

[

4aY_coil6:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

4eY_coil6:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

4ay_coll/

4eY_coll/

[

05

[

4aY_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

4eY_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum




-214.2F

-214.4

-214.6F

-214.8F

215.2F

-215F

-215.4

-215.6

-215.8

-216.2F

-216F

-216.4

1ZA_CUNO

=

12X_coill:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

12X_coil6:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

12X_coil3
=

0.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

12X_coil7:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730

cyclenum

12X_coll4
=

05

7331

7330.5

7330

7329.5

7329

7328.5

7328

7327.5

7327

12X_coil4:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

run:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum
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